BLOOM PUBLIC SCHOOL
C-8 Vasant Kunj, New Delhi
Mid Term Examination (2022-23)

Sample Paper
Mathematics
Class-I11
Name: Roll No.:
Date: 21-09-2022 Max Marks: 40
Time Allowed: 1hr 30min
General Instructions:
e All questions are compulsory.
e Read all the questions carefully.
SECTION-A 8
1.  Write the numeral of Five hundred and eighty 1
2. Jump 10 steps backward: 1
200, 190, 180, , ) )
3. Centimetre can be written as . 1
4. Number name of 645 1
5. Solve 1
TENS ONES
7 8
-3
4 5




10.

Find the missing number
26- =12

a) 20

b) 14

c) 25

d) 10

11 less than 66 is

a) 22
b) 33
c) 44
d) 55

Find the missing numbers
50, 100, 150, 200,

1) 250
2) 220
3) 300
4) 500

a) Option 1 and 2 are correct
b) Option 1 and 3 are correct

c¢) Only option 1 is correct
d) Only option 4 is correct

a) Jump forward by 5s

250, , ,

SECTION-B

b) Expanded form of 654=

, 275

10

1

Rahul had 27 rabbits and 48 deers in his farm. How many deers and rabbits were there in 2

all?
Ans:




11. The height of a new born baby is 47 cm. The baby grew 5 cm in one month. What is the 2
height of the baby after one month?

Ans:
12. a) What is the standard unit of length? 1
Ans:
b) What is the length of the ruler in your geometry box? i
Ans:
13. Subtract and check your answer 2
584 - 241
Ans:
SECTION-C 6
14. a) Dhoni scored a century in a match. How many runs did he score? 1
Ans:
b) Length of the pencil = cm 1
N ( ' .,
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Ans:




c¢) Subtract the numbers

H T 0
8 > 0
—| 4 3 5

15. Expand the numbers and solve
Add 65 +29
Ans:

SECTION-D
Case Based Study 1

16. One-day match between India and South Africa in Guwahati. Runs scored by the players
given below. Read the table carefully and answer the questions.

Players Runs scored
Player 1 93
Player 2 Q7
Player 3 89
Player 4 100
a) Which player completed the century?
1 Player 1
1 Player 2
] Player 3
] Player 4
b) How many more runs Player 2 needs to complete a century?
1
12
13

4



¢) How many runs make half a century?
1150
1100
150
1200

d) How many players scored more than 90 runs?
14
13
12
1

Case Based Study 2

Kittu has sweets to eat in some rooms but he is unable to find them. Help him to find that
room.

e e T o oD

1|91|92{ 93] 94| 95| 96| 97| 98 99 [100}f
181[82|83|84|85|86|87[88|89] 90
71{72|73|74| 75| 76| 77| 78| 79| 80
61|62|63|64|65|66]|67[68]69]70
51| 52|53 54|55/ 56(57| 58] 59] 60
41|42| 43| 44| 45| 46| 47| 48] 49] 50
31|3233| 3435|3637/ 38/ 39] 40
21[22]23(24| 25| 26| 27| 28| 29[ 30
11| 12| 13]14[15] 16| 17] 18] 19] 20
1l2{3]a|s5][6[7[8] 910

—

a) 10 less than 34 is
154
124
134
114

b) 53-20=
733
723
713
743

¢) 10 more than 40 is
170
130
150
140



18.

d) The sum of 9 and 44 is
15
62
193
153

Case Based Study 3
Ravi and Tina are going to Agra by car with their family. They are following a map for the
route ‘‘Delhi to Agra’’ via Yamuna Expressway. You also look at their map and answer the

following questions.
Aligarh

DELHI § AGRA
©== 50 km 68km—i-—74km_i

Mathura Fatehpur
Sikri
a) Which place is nearer to ‘Aligarh’?
1 Delhi
] Mathura
] Agra

"1 Fatehpur Sikri

b) How far is Agra from Aligarh?
1100 km
1166 km
1142 km
1125 km

c¢) The family decided to visit the temple in Mathura. How far is Mathura from Delhi?
1105 km
1118 km
1135 km
1177 km

d) How far is Agra from Delhi?
1136 km
1200 km
1155 km
1192 km



Case Based Study 4

19. Sangeeta went to the market with her grandpa. She looked at the prices and asked a few
questions to her grandpa.

Items Prices
Oil Rs. 70
Biscuit R&.23
Ghee Rs. 127
Rice Rs. 150

a) What is the price of rice?
1 Rs. 70
] Rs. 25
1 Rs. 127
1 Rs. 150

b) What is the price of oil and ghee together?
1 Rs. 150
1 Rs. 197
] Rs. 80
] Rs. 75

¢) Which item has the lowest price?
1 0il
1 Rice
1 Ghee
] Biscuit

d) Which item is the most expensive?
1 0il
] Biscuit
] Ghee
] Rice



